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Note: 3-8 nvawn are presented here together; since only '8 mywn is discussed here, we’ll omit "2 mwn until it is assayed
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I ’x mw: nonw done by %108 (above, R:2) — is valid, as long as (if s/he is n/8nv) the kv doesn’t touch the meat
a  Therefore: their wrong mawnn are impactful
b Assuch:if a 9109 did no'nw with intent which invalidates (ympn% i/t ymn),
¢ If: there is any w210 07 remaining, a 7w should do another nYap properly
i observation: wording of mwn —onw (post facto) implies that it is not permissible;
1 challenge: v. 2 teaches that 7w 912 NY’NWY, even women, slaves and RNV (in spite of v. 1)
2 answer: because it had to mention 8nv, who ideally should not do no'nw (lest he touch 129p=> ®nvVN)> "oVNY”
ii  question: how can a Xnv perform nVNY (even Tay>11)? Juxtaposition of VNW::TROY (v. 2) > both must be nrMnv
1 answer: this requirement is "M
2 question: both n2'nv and nYNWY are ”’n M9 (v. 2) — how can a knY (who may not enter) perform nvnNY?
(a) Answer: he could have a very long knife (and stand outside)
(i) Suggestion: perhaps namv could be done from outside, by extending his hands inside
(if) Answer: this Ran holds that partial entry (n¥pna nx’a —just his hands) is considered wpn nx»a
3 Note: n" had inverted 1" — just as no'nw must be inside ('n 7295 = no ’XNV), so too NNL must be inside
(a) Question: why is nv'nw the “obvious” one — as per 1 "1a%; N2V is also required to be 'n »a%
(b) Answer: that follows 1110 1wnY who requires, per v. 2, that vmw be closer to v1pn than vnw)
I xYY's ruling (5"2v1 nw1) regarding n¥pna nk»a — if a Xnw sticks his hand into precincts of N1y — gets man for vT1pn Nr*a
a  Source: v.3 — compares Yan::nR»3; just as ¥an of part is yan, similarly n¥pna nx’1 is considered nxva
b Challenge: if a y11¥n’s 8th day fell on 9"y and he saw »p that day, he may come to gate of nty (for nnv)
i Even though: no other *»2v may come that far
ii ~ Reason: better to violate the nwy of n'&nv MW (no n13) than have him violate noa j129p (113 for non-fulfillment)
iii ~Dissent (217 ”7): there isn’t even a violation of an nwy in allowing him in, per v. 4
1 Source: v. 4 — nwTn means that they innovated new restrictions - not allowing »"2v into 1% nann
(a) - until then it was permitted (n”nn)
iv  Explanation: if n¥pna nx>1 is NR*1, how could »1v enter to bring his mnna (thumb etc.) in for Mnv? Both are m
v Response: since yn¥n was (explicitly) permitted in (as 01193 901n) for Mnna 1NN, we also “waive” P NRML
¢ gor’rrYYholds - if Ynp 111 had na’t nkmv (on 9”y) and then became nn *xnY, since they can bring 8”p as no (if 21)
i Challenge (»an): disanalogous — in that case, the y11¥n was already 9mn and the »p didn’t foul that
1 But in this case: the n»ar were rejected ab initio; the nn nkmv cannot “rehabilitate” them
ii  Rather (»73x8): qov "1 must have meant a case where the 112% were n"v, then became n’ar - may bring a”p
1 Challenge: in case of »11¥n, he was 1mn; in case of n"v, the NkMY is N"INT — but only for n"v, not na»n
2 Block (X37): opposite stands to reason
(a) In case of: y11¥n, he has a 9mn for ny % nkMY, doesn’t extend to *p
(b) But in case of: nn *kNY, the NkMV is N7, should allow another nkmv to be pushed off as well
3 Conclusion: X211 »ar must both hold that m1axa ®n N7 kMY (and not nIMn)
d  Reassessing 851's position:
i Support: all mamo would be immediately before no'nw except for yx¥n DWR NVNY
ii  Argument: if the n25n were that nxpna nX’a is not NR»a, he could extend his hands in and perform n2'mv just before
nonw and have the animal right next to 1p» v
1 Answer (9o 79): follows N1’ 72 701 1 who identifies ax (where nwR must be vnwi) as far from door of Ny
(a) Challenge: why not make a door at the wall of the N1ty (on north side) to allow him to put his hands in?
(b) Answer (X377 723K): per v. 5, exact accouterments of wTpn are directed by ’n (may not add)
(c) Alternatively: 4oy "1 — anyone doing n2no must put his body and head inside, in order to be able to put
all of his energy on the j17p, therefore, this is no solution
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